;> restart :
> F(x) =x-2—2x

_> plot(F(x),x=-4.4);
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. 32 (—2 sin(n ) +n2nzsin(n7t) +2nﬂ:cos(nn))
n 3 3
nm

> b, = (%)-int(F(x)-sin( n-lzi-x ),x=—L..LJ;

b 16 (nmcos(nmn) —sin(nm))
n 2 2
nm

> STF := C+Sum(an-cos(M ( n-Pi-x

I I ),n=l..inﬁnity);

@ (32 (-2sin(nm) +n211:2sin(n n) +2nmcos(nm)) cos(L nnx)

) + b, sin

STF = 18 Z 4
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> STFy = C+sum(an-cos( ”'12”‘ ) =1..500) :

=> plot(STF5OO, L..L);
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=> plot( [F(x),STFSOO],xZO.S.. .




—0.75—_
-0.80—:
—0.85—:
—0.90-:

-0.95+

_1_

(> plot([F(x), STFy0], x=0.9..1.1)
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> STF, 00 == C+sum(an-cos(%) —I—bn-sin( nePix ),n=l..1000) :

> plot([F(x), STF|g0} x=09..1.1)
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> plot(STF, g £ =-3.9..3.9)
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> plot([F(x), STF,gg0 |, x=-0.01 .0.01)
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